LISTENING TEST
Link audio: https://drive.google.com/file/d/1Dtp4DrBQ2RgplleB-T-

v3o8ih5tDVhU/view?usp=sharing

Intensive listening
Listen to the audio about Roller Coasters and choose the correct answer.
There are many categories  classify roller coasters.
Al to
B. usedto
C. in which
D. in order to
The Tower of Terror roller coaster is located in
A. Australia
B. South Africa
C. Canada
D. Europe
Extensive listening

Read the statements and choose the correct option.

The speaker says that roller coasters are characterized by their speed, originality, and height, and people
love them. What does it mean?
A. Roller coasters make people feel nauseous and afraid due to their savage moves and height.
B. Roller coasters are boring and low.
C. Roller coasters make people feel excited and with lots of adrenaline due to their brutal ups and
downs.
D. Roller coasters are seen as a leisure activity by people, in which people choose them for having

fun and relaxing.

What the speaker means when he says that there are 5 roller coasters with the tallest drops on the planet
is that:
A. They are the top tallest roller coasters all over the world, and no other could be compared with
them.
B. They are the top tallest roller coaster, but there are some biggest, as well, all over the world and
best.
C. They are the biggest roller coasters but their drops are not so good because their moves are too
slow.
D. They are the scariest roller coasters but they are located in the European continent and people

prefer not to get on them.
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Responsive Listening

Listen to the audio and according to the statement choose the correct answer.
What was the total height located in North Carolina?

A. 95
B. 89
C. 99
D. 90
How many roller coasters are there in the fourth position?

~RoN- 22
Bo—= W

Selective Listening
Fill the gaps according with the options

In position number three you will find Brad Force in ........... has a fall of 105.76 M in
second place is Top Thrill Dragster located in ........... this roller coaster has a fall of 121.92
M and a total height of 128

Spain, Texas
Spain, Florida
Spain, Ohio
Spain, Orlando
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Finally, the roller coaster with the highest fall in the world is the king dog caught in
..................... its fall is 127.4 M and its total height is 138,98

A. New Jersey

B. New York

C. Washington D.C
D. Dakota
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